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This paper shows how predation breaks the links between an economy’s aggregate resource
endowment and aggregate consumption and between the interpersonal distribution of endowments
and the interpersonal distribution of consumption. We construct a general-equilibrium model in
which some people (the privileged) are well endowed with resources and other people (the
unprivileged) are poorly endowed with resources and in which each person can choose to be either
a producer or a predator. In this model the choice by some people to be predators decreases
aggregate consumption, both because the resources of predators are wasted by not being used
productively and because producers sacrifice production by allocating resources to guarding against
predators.

Analyzing this model we find that the minimum equilibrium ratio of predators to producers
depends only on the technology of predation. In addition, the equilibrium ratio of predators to
producers equals its minimum value if and only if the ratio of unprivileged people to privileged
people is not larger than this minimum value. These properties imply that, in contrast to a model
that abstracts from predation, the fully egalitarian distribution of resources does not satisfy the
Rawlsian criterion of maximizing the consumption of the person with the lowest consumption. (In
fact, the fully egalitarian distribution is not even Pareto efficient). Instead, the Rawlsian criterion
selects an unegalitarian distribution of resources in which the ratio of unprivileged people to
privileged people equals the minimum ratio of predators to producers and in which unprivileged
people have only the minimum possible endowment of resources. In the resulting Rawlsian
equilibrium, only unprivileged people choose to be predators rather than producers, and because both
the ratio of predators to producers and the amount of resources that predators waste are minimized,
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This paper shows how predation breaks the links between an economy’s aggregate re-
source endowment and aggregate consumption and between the interpersonal distribution
of endowments and the interpersonal distribution of consumption. We construct a gener'al—
equilibrium model in which some people (the privileged) are well endowed with resources
-and other people (the unprivileged) are poorly endowed with resources and in which each
person can choose to be either a producer or a predator. Predators are people who produce
nothing, but live by appropriating>the.pro‘duct of the producers.!

We assume that each person chooses to be either a predator or a producer depending
on whether predation or production yields more consumption for him. We also assume
that the technologies of production and predation are such that the consumption that a
person can obtain from being a producer is an increasing function of his resources, whereas
the consumption that a person can obtain from being a predator does not depend on his
resources.? In addition, if a person chooses to be a producer, then he must decide how to

allocate his resources between production and guarding against predators.® In making these

1This abstract analysis assumes that all activities can be classified either as being predatory, or as being
directly productive, or as being a way to guard against predation. In fact, although some activities, such
as burglary and robbery, are unambiguously predatory, and some activities, such as college teaching, are
unambiguously productive, and some activities, such as installing locks, are unambiguously ways to guard
against predation, there are activities, such as litigating, that are not easily classified. We leave the reader
free to classify specific activities according to his or her own inclination. But, we point out that predation
is not synonymous with crime. Although many predatory activities, like burglary and robbery, are criminal,
many criminal activities, like illegal gambling and drug dealing, are productive and not predatory.X

?If human capital is an important component of a person’s resources, then this assumption implies that
our analysis is applicable to low-skilled predatory activities like burglary, robbery, and kidnapping and
abstracts from high-skilled predatory activities like embezzlement and séme forms of litigation.

3Dan Usher (1987) developed a pioneering general-equilibrium model in which people decide simulta-
neously whether to be producers or predators and in which producers also decide how much resources to
allocate to guarding against predators. In Grossman and Kim (1997) we analyse the choices of people to be

producers or predators in a model in which only some people, whom we define to be amoral, are potential



choices each person takes the choices of all other people as given.

In our model the interpersonal distribution of resources has two dimensions. One dimen-
sion is the number of people who are unprivileged. The other dimension is the endowments
of privileged and unprivileged people relative to the average endowment of resources. If
either the number of unprivileged people approaches zero, or if the endowments of privileged
and unprivileged people approach the average endowment, then we define the distribution
of resources to be fully egalitarian.

We begin by analysing how the equilibrium configuration of choices depends on the tech-
nology of predation and on the interpersonal distribution of resources. We emphasize two
_properties of the equilibrium that are critical for the welfare analysis that follows: First,
regardless of the interpersonal distribution of resources, the equilibrium ratio of predators
to producers has a positive minimum value that depends only on the technology of preda-
tion. This property means that, even though a privileged person can produce more than an
unprivileged person, and, as a result, predation is less attractive for the privileged than for
the unprivileged, if the ratio of unprivileged people to privileged people were small, then not
only all of the unprivileged people but also some of the privileged people would choose to
be predators. Second, the equilibrium ratio of predators to producers exceeds its minimum
value if and only if the ratio of unprivileged people to privileged people is larger than this
minimum value.

Next, we show how the possibility of predation radically alters the welfare properties
of the interpersonal distribution of resources. We apply the Rawlsian criterion, from John
Rawls (1971), and we derive the interpersonal distribution of resources that maximizes the
consumption of the person with the lowest consumption. This criterion is equivalent to

maximizing the consumption of the each unprivileged person.

predators. The other people, whom we define to be moral, always choose to be producers, no matter how
lucrative predation is relative to production. In the present paper we implicitly assume that everybody is

amoral. Hence, every person is a potential predator.



Our model is such that, if we were to ignore the possibility of predation, then aggregate
consumption would depend only on the aggregate endowment of resources and the inter-
personal distribution of consumption would correspond to the interpersonal distribution of
resources. Accordingly, if we were to ignore the possibility of predation, then the Rawlsian
criterion would select the fully egalitarian distribution of resources.

The fact that in equilibrium some people choose to be predators changes this conclu-
sion for two reasons: First, the choice by some people to be predators decreases aggregate
consumption, both because the resources of predators are wasted by not being used produc-
tively and because producers sacrifice production by allocating resources to guarding against
predators. Second, predation increases the consumption of the unprivileged people relative
to the consumption of the privileged people.

With some people choosing to be predators we find that the Rawlsian criterion selects an
unegalitarian distribution of resources in which the ratio of unprivileged people to privileged
people equals the minimum ratio of predators to producers, and the unprivileged people have
only the minimum possible endowment of resources. In the resulting Rawlsian equilibrium,
‘only unprivileged people choose to be predators, and, because both the ratio of predators
to producers and the amount of resources that predators waste are minimized, aggregate
consumption is maximized. In addition, in the Rawlsian equilibrium predation equalizes
the consumption of the privileged and the unprivileged. We also show that, allowing for

predation, the fully egalitarian distribution is not even Pareto efficient.

1. Analytical Framework

Assume that each unprivileged person has an endowment of k units of resources, and
that each privileged person has an endowment of K units of resources, where K >k 2 0.
Also, assume that u, where 0 <wu < 1, is the number of people who are unprivileged, and
‘that 1 —w is the number of people who are privileged, where we choose units such that

U

the population is one. Let U = ;- denote the ratio of unprivileged people to privileged



people. Aside from their endowments of resources, people are otherwise identical.
Given these numbers of privileged and unprivileged people, the average endowment of

resources, denoted by {1, is

K+ Uk
14U

In analysing the welfare properties of the interpersonal distribution of resources, we hold

(1) Q= (1-wkK +uk=

fixed. For a given vaice of ), the interpersonal distribution of resources can reflect any
combination of k, K, and u that satisfies equation (1).

Given his endowment of resources each person has to make two choices. First, he must
choose whether to be a producer or a predator. Each person makes this choice individually,
taking as given his potential consumption as a producer or as a predator. Let N denote
“the number of people who are privileged and who choose to be producers, where N <1—u,
let n denote the number of people who are unprivileged and who choose to be producers,
where n < u, and let r denote the number of people, whether privileged or unprivileged,
who choose to be predators. Thus, we have N4+n+r =1. Let R= g5, denote the ratio
of predators to producers.

Second, if a person chooses to be a producer, then he must decide how to allocate his
human capital between production and guarding against predators. Each producer also
makes this choice individually, taking the ratio of predators to producers as given. Let
g denote the nonnegative fraction of his resources that a producer allocates to guarding

against predators.* Thus, 1 — g denotes the nonnegative fraction of his resources that he

"allocates to production. Let G = TEE denote the ratio of the resources that a producer

4Guarding includes all actions that are costly but have the effect of decreasing the fraction of the pro-
duction of consumables that predators appropriate. Examples of ways of guarding against predators include
the locating of production in inconvenient but secure places, the production of things that are harder for
predators to appropriate, the installation of locks, the building of walls, and the hiring of guards. For sim-
plicity, the present analysis focuses on the total amount of resources allocated to guarding, abstracting from

different ways of guarding.



allocates to guarding against predators to the resources that he allocates to the production
of consumables.

To simplify the analysis of the choice between being a producer and a predator, assume
that a unit of resources can produce one unit of consumables. The number of units of con-
sumables that a person actually produces equals the product of his endowment of resources
and the fraction of his resources that he allocates to production.’®

A producer appropriates the nonnegative fraction p of the consumables that he produces,
and predators appropriate the nonnegative fraction 1—p. Assume that p depends negatively

on the ratio of predators to producers, R, and positively on G. Specifically,

1
(2) P=TYOR/G 0>
In equation (2), the parameter 6, which embodies the technology of predation, determines
the effectiveness of predators in appropriating consumables for given values of R and G.
The specification that p depends on the number of predators but not on the identity of the
predators reflects the assumption that privileged people and unprivileged people are equally
effective at predation.®

Let C denote the consumption of each privileged producer and let ¢ denote the

consumption of each unprivileged producer. After allowing for the fraction of resources

5To focus on the effects of the possibility of predation, we assume that individual productive activities
are independent, and we abstract from trade in either productive inputs or consumables.

8Equation (2) is a generic black box that conceals the process of predation, just as the standard generic
production function conceals the process of production. For example, the relation between appropriative
inputs and the appropriative outcome described by equation (2) could involve either the use of force or a
peaceful settlement under the threat of force, although, strictly speaking, given complete information and
the absence of stochastic factors, this model does not provide an internal explanation for costly violence.
Dagobert Brito and Michael Intriligator (1985) address the question of whether appropriative conflict is
resolved with or without violence and destruction, and emphasize the imbortance of incomplete information

-as a cause of violence.



allocated to guarding against predators and for the fraction of consumables lost to predation,

we have

P

p
=—— k.
1+ G

1+G

(3) C=p(l-g)K = K and c=p(l—g)k

Let D denote the consumption of a predator. Assuming that each predator obtains an

equal share of the total amount of consumables appropriated from the producers, we have’

_ (1-p)(1—g)NK + nk)

r

(4) D

According to equation (4) D is a decreasing function of R and is well defined for positive
values of R. Further, if R equals zero, then the value of D 1is defined to be limg_o D,

which, using equation (2), equals £1-9)K.

.2. The Ratio of Predators to Producers

To decide whether to be a producer or a predator, each privileged person compares the
values of C and D, taking G and R as given, and each unprivileged person compares the
values of ¢ and D, taking G and R as given. The choices of privileged and unprivileged
people to be producers or predators depend on G in the following way:
1. D>C >c: If D were larger than both ¢ and C, then every person would prefer to
be a predator. Substituting equation (2) into equations (3) and (4), we find that this case
could occur if and only if G were smaller than . In this case, R would be infinite.
9. D=C>c: If D equals C but is larger than ¢, then unprivileged people prefer to be

predators, whereas privileged people are indifferent between being producers or predators.

"For simplicity, the model assumes that predators only prey on producers. Predators do not prey on
other predators. The model also abstracts from possible destruction of a some consumables as the result of
predation. The models in Grossman and Kim (1995, 1996) show how destruction is easily incorporated into
the analysis. In addition, we could modify the model to allow the activity of guarding against predators
to include the apprehension and punishment of predators. The apprehension and punishment of predators

would not directly affect p, but would reduce the expected utility of predators.



This case would occur if and only if G equals 6. In this case, R can take any value larger
than or equal to U.

3. C>D>c: If D issmaller than C but larger than ¢, then unprivileged people
prefer to be predators, whereas privileged people prefer to be producers. This case would
occur only if G islarger than @, but smaller than 6K/k. In this case, R isequal to U.
4. C>D =c: If D is smaller than C but equal to ¢, then unprivileged people
are indifferent between being producers or predators, whereas privileged people prefer to be
‘producers. This case would occur only if G is equal to or larger than @€)/k, but not
larger than 0K /k. In this case, the equality between D and ¢ implies that R is equal to
%(——%%. This implied value of R is equal to or smaller than U, but larger than or equal
to zero.

5. C>c>D: If D weresmaller than both ¢ and C, then every person would prefer
to be a producer. This case could occur only if G were larger than 6Q/k. In this case, R
would be zero.

Summarizing these results, the choices of privileged and unprivileged people to be pro-

ducers or predators are such that

,

o0 if and only if G < 8
z € [U,o0] ifand onlyif G =140
(5) R=¢U only if 0 <G<O0K/k
%(—_kg% only if  00/k < G <0K/k
0 only if G>00/k.

In Figures 1 and 2 the piecewise linear loci represent equation (5).

Each privileged person who chooses to be a producer chooses G to maximize C, taking
R as given, and each unprivileged person who chooses to be a producer chooses G to
maximize ¢, taking R as given. To analyse these choice problems we substitute equation

(2) into equation (3) and calculate the value of the ratio G that satisfies the conditions



dC/dG = 0 and dc/dG = 0. For both privileged people and unprivileged people the

solution to this problem is
(6) G = V6R.

In Figures 1 and 2 the smooth concave loci represent equation (6).
Solving equations (5) and (6) for R, and assuming that the ratio k/Q is small, we find

that in equilibrium®
(7 R =maz{0,U}.

Equation (7) reveals that, if 6 is larger than U, then in equilibrium unprivileged people
prefer to be predators, privileged people are indifferent between being producers and being
predators, and R equals 6. Alternatively, if U is larger than @, then in equilibrium
_unprivileged people prefer to be predators, privileged people prefer to be producers, and R
equals U. Figure 1 illustrates the case of 6 > U, and Figure 2 illustrates the case of U > 9.

Two implications of equation (7) are essential for the welfare analysis that follows. The
first implication is that, if U is smaller than or equal to 4, then in equilibrium R equals

0. The second implication is that, if U is larger than 6, then in equilibrium R is larger

8More generally, solving equations (5) and (6) for R would yield

¢ for U<¥
R U for 0<U <R
Ry for Ri<U<R;

{Ry, Ry, U} for U 2> Rs,

“where R; and R, are the values of R that satisfy both R = %é—g%%, from equation (5), and G = VOR,
from equation (6). Such values of R would exist only if k/Q were sufficiently large. Equation (7) assumes
that R; and Ry do not exist. Because both R; and R» would be larger than 6, neither the two
essential implications of equation (7) stressed below nor the conclusions drawn from the welfare analysis in

the sections that follow depend on whether or not R; and R exist.
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0Kk - o
60k g € [U,o0] if and only il G =10
0 5 R=_ U only if 0 <G <0K[k
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Figure 1: R=0>U
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G = 0OR

QI | o [ o if and only if G <0
60 /k z € [U,00] if and only if G =96
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Figure 2: R=U >0



than . In other words, regardless of the size of U, R is not smaller than @. Furthermore,
R is equal to 8 if and only if U is not larger than 6.°

These two implications of equation (7) bring out the subtle nonmonotonic relation be-
tween U and the equilibrium value of R. If the number of unprivileged people is so large
that U is larger than the parafneter 6, then in equilibrium R is larger than 6. But,
if the number of unprivileged people were so small that U were smaller than 6, then in
equilibrium R would not be smaller than 0. Rather, if U were smaller than 6, then in

equilibrium enough of the privileged people would choose to be predators to make R equal

0.

3. Rawlsian Distributions of Resources

We focus the welfare analysis on deriving the interpersonal distribution of resources that
is preferred according to the Rawlsian criterion. The Rawlsian criterion is to maximize the
utility of the least advantaged person. In the present model, consumption is a cardinal index
of utility.

Recall that the model assumes that the production technology is linear and that indi-
vidual productive activities are independent, and that the model also abstracts from trade.
Given this setup, if we were to ignore the possibility of predation, then average produc-
tion and consumption would equal ), independently of the interpersonal distribution of

resources, and each person’s consumption would equal that person’s production. Conse-

9T, see the logic of these implications, recall that, if R were smaller than @, then according to equation
(6) the chosen value of G would be smaller than 6. But, if G were smaller than 6§, then D would be
larger than both ¢ and C, and, as indicated by equation (5), every person would prefer to be a predator.
Thus, regardless of the size of U, R smaller than 6 would be a contradiction.

Also, recall that, if R were equal to §, then according to equation (6) G would be equal to 6. But,
if G were equal to 8, then D would be larger than c, and, as indicated by equation (5), R would be
at least as large as U. Thus, if U is larger than @, then R cannot equal 6. Conversely, given that R
cannot be smaller than 6, if U is larger than 6, then R is larger than 6.



quently, the fully egalitarian distribution of resources would imply equal production and
consumption for every person and, hence, would maximize the production and consump-
tion of the person who has the lowest consumption. Thus, abstracting from predation, the
Rawlsian criterion would select the fully egalitarian distribution.

" The fact that in equilibrium some people choose to be predators radically alters this
éonclusion. As suggested above, the key to understanding the welfare properties of the
interpersonal distribution of resources in this model that allows predation is to observe that
the choice by some people to be predators decreases aggregate consumption, both because the
resources of predators are wasted by not being used productively and because any resources
that producers allocate to guarding against predators reduces their production. In addition,
predation increases the consumption of the unprivileged people relative to the consumption
of the privileged people.

Equation (6) implies that the amount of resources allocated to guarding against predators
is positively related to the number of predators. Thus, the negative effect of predation on
aggregate consumption is an increasing function of both the number of people who choose
to be predators and their endowment of resources, which is wasted.

Substituting for p from equation (2) and for G and R from equations (6) and (7)
into equations (3) and (4), we can calculate the consumption in equilibrium of privileged
people and unprivileged people. Because privileged people in equilibrium either prefer to be
producers or are indifferent between being producers and being predators, the consumption

of every privileged person is given by

( K
= >
010y for 0>U
(8) C = 1
K
_ i U>86.
Gt vy

Because unprivileged people in equilibrium either prefer to be predators or are indifferent

between being predators or producers, the consumption of every unprivileged person is given

10



byl()
( K

—_— for 6>U
(1+0)? or V=
(9) D=4
K,/6]U e U
—Y —— for > 0.
L (1++0U)?

Equations (8) and (9) imply that, if U is larger than 6, then D s smaller than C,

but that, if U is smaller than or equal to 6, then D s equal to C. Thus, for any

10[f R, and R exist, then equation (8) would become

( K

—_— fi <40
a0y or UKL
K
_ for 6<U<R
(1+ V6U)? =
C =
K
—_— f Ri<U<R
(0 + VOR)? o M 2
K K K
, , for U > Rs,
| {(1 TR (1+0R2)? (1 + \/OU)2} =

and equation (9) would become

( K

m f01.‘ U<é
K+/6/U
—_— f f<U<LR
1+ /60" o =M
D=

ﬁ k
—_— f R
(1+\/§RTZ or Ri<U< Ry

k K+\/8

| 1 - LI VOV s for U3 R

AT VR (1+ VoR)? (1 + AUy

Using thesc more general equations for C and D, we can confirm that, because both R; and Ry would
be larger than 8, assuming that Ry and R, exist would not affect the results of the welfare analysis that

follows.
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interpersonal distribution of resources the consumption of each unprivileged person, which
is equal to D, is less than or equal to the consumption of each privileged person, which is
equal to C. Accordingly, to apply the Rawlsian criterion in the present model we only have
to determine what distribution of resources implies the maximum value of D.

From equation (1) we can relate K, the endowment of a privileged person, to Q, the
.avera'ge endowment of resources, and to U, the ratio of privileged people to unprivileged

people, and to k, the endowment of an unprivileged person. Specifically,
(10) K=Q+UQ k).

Also, recall that in analysing the welfare properties of the interpersonal distribution of re-
sources, we hold 0 fixed. Equation (10) implies that, given (), the combination of U and
k fully describes the interpersonal distribution of resources.

Substituting equation (10) into equation (9) we find that the combination U = 0 and k =
0 implies the maximum value of D. This maximum value of D 1s % This result means
that the consumption of the person who has the lowest consumption is maximized with a
-positive number of unprivileged people, each of whom has the minimum possible endowment
of resources. With this unegalitarian distribution of resources the unprivileged people choose
to be predators, the privileged people choose to be producers, and each unprivileged person
appropriates from the privileged people an amount that is larger than what his or her
consumption would be with any other interpersonal distribution of resources, including the
fully egalitarian distribution. Equation (9) implies that with the fully egalitarian distribution
of resources D would be equal to (—1—39—)5. In addition, the unegalitarian Rawlsian distribution
of resources results in equal consumption for the unprivileged and the privileged.

The result that the Rawlsian criterion selects the distribution of resources that has U
_equal to 6 and k equd] to zero is easy to explain. According to equation (7) the equilibrium

ratio of predators to producers, R, is not smaller than #. Also, R equals its minimum

value of @ for all values of U smaller than or equal to 6. Thus, with U equal to 6

12



‘both the number of predators and the resulting amount of resources allocated to guarding
against predators is minimized.

Furthermore, with U equal to 6 the unprivileged people prefer to be predators, whereas
the privileged people are just indifferent between being producers and predators. Thus, with
both U/ and R equal to @ all of the predators are unprivileged people, and each predator
wastes only the endowment of resources of an unprivileged person. In addition, with & equal
to zero the amount of resources that each unprivileged predator wastes is also minimized.
Accordingly, the combination U = 0 and k = 0 minimizes the negative effect of predation
on the aggregate production of consumables and, hence, maximizes aggregate consumption.

Finally, because with U equal to § the privileged people are just indifferent between

-being producers and predators, the consumption of privileged producers and unprivileged
predators is equal. Thus, with U equal to 6 maximizing aggregate consumption maximizes

consumption for every person and, hence, for the person with the lowest consumption.

4. Pareto Efficient Distributions of Resources

Because the Rawlsian distribution of resources — U = 6 and k = 0 — implies maximum
consumption for the person with the lowest consumption, the Rawlsian distribution is also
Pareto efficient. A Pareto efficient distribution of resources is a distribution such that no
redistribution of resources would result in a Pareto improvement. A Pareto improvement
‘s an increase in the net consumption of at least one person without a decrease in the net
consumption of any other person.

In this model, if we were to ignore the possibility of predation, then all interpersonal
distributions of resources would be Pareto efficient. Without the possibility of predation,
any redistribution of resources would reduce somebody’s consumption. Allowing for the
possibility of predation, however, introduces the possibility that a redistribution of resources
could result in a Pareto improvefnent.

As we have seen, with the fully egalitarian distribution of resources D would be equal



to (1—%,?, whereas with the Rawlsian distribution D would be equal to 1—2—0 In addition,
with either the fully egalitarian distribution or the Rawlsian distribution C and D would
be equal. Thus, with the Rawlsian distribution of resources C as well as D would be
higher than with the fully egalitarian distribution. In other words, not only does the fully
egalitarian distribution of resources not satisfy the Rawlsian criterion of maximizing the
consumption of the person with the lowest consumption, the fully egalitarian distribution of
v.resources is not even Pareto efficient. In fact, the Rawlsian distribution of resources would
result in a Pareto improvement over any distribution in which either U is less than 6 or
k 1s positive.
The Rawlsian distribution of resources is not the only Pareto efficient distribution. For
example, equations (8) and (9) imply that with U larger than 6 the consumption of an
unprivileged person, D, is smaller than the consumption of an privileged person, C. Thus,
starting with U larger than 8, decreasing U to 0, by changing the status of some
people from unprivileged to privileged would increase the consumption of these people. But,
equation (8) also implies that for some distributions of resources in which & is less than £
‘and U is larger than 6 the consumption of a privileged person, C, 1s higher than &5,
which is the level of C associated with the Rawlsian distribution. Thus, starting with any
of these distributions decreasing U to § would decrease the consumption of the remaining
privileged people and, hence, would not result in a Pareto improvement. Accordingly, any

of these distributions of resources is also a Pareto efficient distribution.

5. Summary

We have analysed a general-equilibrium model in which some people (the privileged)
are well endowed with resources and other people (the unprivileged) are poorly endowed
with resources and in which each person can choose to be either a producer or a predator.
We began by determining how the equilibrium ratio of predators to producers depends on

.the technology of predation and on the interpersonal distribution of resources. Because a
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privileged person can produce more than an unprivileged person, predation is less attractive
for the privileged than for the unprivileged. But, we found that the minimum equilibrium
ratio of predators to producers depends only on the technology of production. If the ratio
of unprivileged people to privileged were smaller than this minimum equilibrium ratio of
predators to producers, then in equilibrium all of the unprivileged people as well as some of
the privileged people would choose to be predators. We also found that the equilibrium ratio
of predators to producers exceeds its minimum value if and only if the ratio of unprivileged
people to privileged people is larger than this minimum value.

We then used these results to show how predation breaks the links between an economy’s
aggregate resource endowment and aggregate consumption and between the interpersonal
distribution of endowments and the interpersonal distribution of consumption. Most inter-
_estingly, we found that with some people choosing to be predators the Rawlsian criterion
of maximizing the consumption of the person with the lowest consumption selects an une-
galitarian distribution of resources in which these people have only the minimum possible
endowment of resources. In addition, the unegalitarian distribution of resources that satisfies
the Rawlsian criterion results in equal consumption for unprivileged people and privileged
people. These results obtain even though our model is such that, if we were to ignore
the possibility of predation, then the Rawlsian criterion would select the fully egalitarian
distribution of resources. But, allowing for predation, we found that the fully egalitarian
distribution is not even Pareto efficient.

The key to understanding the welfare properties of the interpersonal distribution of re-
_sources in this model that allows predation was to observe that the negative effect of pre-
dation on aggregate consumption is an increasing function of both the number of people
who choose to be predators and their endowment of resources, which is wasted. In addition,
predation increases the consumption of the unprivileged people relative to the consumption
of the privileged people.

With the unegalitarian distribution of resources that satisfies the Rawlsian criterion both
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the number of predators and the resulting amount of resources allocated to guarding against
predators is minimized. Furthermore, all of the predators are unprivileged people, and each
predator wastes only the endowment of resources of an unprivileged person. In addition, the
amount of resources that each unprivileged predator wastes is also minimized. Accordingly,
the unegalitarian distribution of resources that satisfies the Rawlsian criterion minimizes
the negative effect of predation on the aggregate production of consumables and, hence,
maximizes aggregate consumption. Finally, because with this distribution of resources the
‘privileged people are just indifferent between being producers and predators, the consump-
tion of privileged producers and unprivileged predators is equal. Thus, maximizing aggregate
consumption maximizes consumption for every person and, hence, for the person with the

lowest consumption.
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